

$$1,35 + 0,0037 + 95,73 + 3 = 100,0837$$

$$60,2 : 2 = 30,1$$

$$17,4 \times 0,1 = 1,74$$

$$51,881 - 32,072 = 19,809$$

$$\begin{array}{r} 11 \\ 1,35 \\ 0,0037 \\ 95,73 \\ 3 \\ \hline 100,0837 \end{array} +$$

$$\begin{array}{r} 17,4 \\ 0,1 \\ \hline 1,74 \end{array} \times$$

$$\begin{array}{r} 2 \overline{) 60,2} \quad 2 \overline{) 30,1} \\ \underline{6} \quad \underline{6} \\ 00 \quad 2 \\ \underline{0} \quad \underline{2} \\ 0 \end{array}$$

$$\begin{array}{r} 4 \quad 7 \\ \cancel{5}11,8 \quad \cancel{8}11 \\ \underline{32}, \underline{072} \\ 19,809 \end{array} -$$

